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General Instructions :

(i) The question paper comprises of two sections, A and B. You are
to attempt both the sections.

(ii)  All questions are compulsory.

(iii)  All questions of Section A and all questions of Section B are to be
attempted separately.

(iv)  Question numbers 1 to 3 in Section A are one-mark questions.
These are to be answered in one word or one sentence.

(v) Question numbers 4 to 7 in Section A are two-mark questions.

These are to be answered in about 30 words each.



(vi)  Question numbers 8 to 19 in Section A are three-mark questions.

These are to be answered in about 50 words each.

(vii)  Question numbers 20 to 24 in Section A are five-mark questions.

These are to be answered in about 70 words each.

(viii) Question numbers 25 to 42 in Section B are multiple choice
questions based on practical skills. Each question is a one-mark
question. You are to select one most appropriate response out of

the four provided to you.

HOT A

SECTION A

1.  THE-1 3 UYg-2 % dcdl o Solagi(-eh fI=amdi B s Tah 3wt fotfiay | 1

Write any one difference in the electronic configurations of group-1 and

group-2 elements ?

2. So-fowe’ o &9 H =red Sifdd 1 anTeH fafe | 1

Write the contribution of Charles Darwin in the field of ‘evolution.’

3. “‘EH oI THIYET T YeRee S sl SATYIehdl & | 36 e i gfY % faw ar
RO <l T T8 | 1

“We need to manage our resources.” List two reasons to justify this

statement.

31/1/3 3 [P.T.O.
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Teita Sfaenfet o fogves & fafea owifier-sma it o) fafemni & g=h
ST |

List four modes of asexual reproduction other than fission in the living

organisms.

I YT o G 3TeT o TR (SRl ST forr 3 wrd guor & waafad g
AT Tortor h1 9 2314 o forg foror e Eifw | 30 M@ o staas shior 3R
QA 10T 3feRd hIfSTT |

Draw a ray diagram to show the path of the reflected ray corresponding to
an incident ray of light parallel to the principal axis of a concave mirror.

Mark the angle of incidence and angle of reflection on it.

39 1 gt feast stredi / wemsti Y gEt AR e foReht uf@Er / wa
Goft Gl ohl ST i SATTTIHAT © | TE HINY foh 39 A1edl i 9o i &
““qteer SR AT H TohE YRR HEREET e |

List two environment friendly practices or habits which need to be followed
by every member of a family / community. Explain how these practices

will support the “Save the Environment” mission.

“agg e St 1 wIteRer W g g @ | feret Uk 3aTetr i werrat |
39 9 i Y I |

“Affluent life style has a negative effect on the environment.” Justify this

statement with the help of an example.
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AR @R S T T qon =6, afesal a9 wal, R wE 7@ | o e
RAT o e fafir aEnst 4 9w S1d 8 | SR 2a e shifsie o wEn
forg TR ST BT R ?

“Our food grains such as wheat and rice, the vegetables and fruits and even
meat are found to contain varying amounts of pesticide residues.” State the

reason to explain how and why it happens ?

ehTST o 39aa o aw faflaw | afe frafa o e i =t 3x10° ms™' B, @t
34 Tread, foreent Faer sTderdies 1.5 8, § TehTeT shl et 1d hifvTg |

State the laws of refraction of light. If the speed of light in vacuum is
3x10° ms™', find the speed of light in a medium of absolute refractive
index 1.5.

1S A g4 39 oy 1, ST o1 & g9 & 30 cm g W 2@ 2, -1 smadq
o1 gfeferrsl 78 T s 2 |

(i) 39 U1 § g 31 JeRR fotfa |

(i) 39 90T Al Hrohe I Tl @ 7

(iii) Sfdfers it ypfa w2 ?

(iv) 39 oo § widfers a1 g <k for fereor et Efif |

A spherical mirror produces an image of magnification —1.0 on a screen

placed at a distance of 30 cm from the pole of the mirror.
(1) Write the type of mirror in this case.

(i1))  What is the focal length of the mirror ?

(iii)  What is the nature of the image formed ?

(iv)  Draw the ray diagram to show the image formation in this case.

5 [P.T.O.
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12.

13.
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TE T2 & 7§78 hil ST ST @ 7 3ok &l SUF oh HeiT ST |

What are esters ? How are they prepared ? List two uses of esters.

BTEGIhTa ohl fehelt Telt et =1 A 3 w2 g forfae forass @y ersgiem
T Tehe AR & Tk | forelt Heper eAfufshan & foru strawerss vt o

3eeTE A G T TERH FHIR0T fT@e 36k ATehiehi T STl o
THT =T Jeeid SIS |

Write the name and general formula of a chain of hydrocarbons in which

an addition reaction with hydrogen can take place. Stating the essential

conditions required for an addition reaction to occur write the chemical

equation giving the name of the reactant and the product of such a

reaction.

(a)

(b)

(a)

(b)

= fou e wgt st afeam fofe

(i) HEAISTRAT, (if) AT HTE

sk otad areft & foredt omad ® 91 @ 9E SR SH W qet i
TSR Td TRATY] 15t § f3he Thm Titerd 21d € 7

Define the following terms :

(i) Valency; (i) Atomic size

How do the valency and the atomic size of the elements vary while

going from left to right along a period in the modern periodic table ?



14. A qc X (WH] T 17) T Y’ (THI] FEA1 20) T fo=m A |
(i) P d §U S qeal sl MY TTad aroft § fedfaai 1 Seer@ ife |
(i) ‘X’ QAT Y’ % GAN W F a1t A1 R G fAfay |
(iii) & AT AT T S foirg TXaT feAfaT qe 39 <1 dcdi o sfie o
TS Sl Yehicl T Ioaid I | 3

Consider two elements ‘X’ (Atomic number 17) and ‘Y’ (Atomic

number 20)

(1) Write the positions of these elements in the modern periodic table

giving justification.

(1)  Write the formula of the compound formed by the combination of
‘X’ and ‘Y.

(i11)) Draw the electron-dot structure of the compound formed and state

the nature of the bond formed between the two elements ?

15.  foreht Sfier 3 YROT ol g T & ShTed o T9eITd YeI0 shid O I8 I TR foh 3Eeh
3 W U Sfat 1 wifd fosrfaa 81 e 2 | 38 wfkar o 9w fafae ot v &
Sttt o 7 ferfae fSem gm wfskan o1 Yeqor foren S gehan 2 | 390 @ foreft we
ISTET0T e U Sfie o farehfira B omr Jeqor foe ST atet afterdHi shl a1
for srareen st i | 3

On cutting the body of an organism into many pieces it was observed that
many of these pieces developed as new individuals. Name the process and
list two organisms in which this process may be observed. Draw a
schematic diagram to illustrate the changes that are likely to be observed
during the development of new individuals in any one of the organisms

named.

31/1/3 7 [P.T.O.
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17.

18.
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qFEl g I A SH At Mty f e ot i gt seEe)
2 Tl o1 3w foreft ufam & e we aygfg 1 yoger ®9 @ gt
AT ?

List any four methods of contraception used by humans. How does their

use have a direct effect on the health and prosperity of a family ?

(a)
(b)

(a)
(b)

(a)

(b)

(a)

(b)

TR ST TS Tof afert o forsher gl € oM 2 |

HIel, FITE, AT 3T HeEfral #§ ot 21i@ i G Bl | |
T 9 Sl I $ThT TGN % YR T Th T TYfEd L ohd 87 30
3T il T afea gfe i |

Give the evidence that the birds have evolved from reptiles.

Insects, octopus, planaria and vertebrates possess eyes. Can we
group these animals together on the basis of eyes that they possess ?

Justify your answer giving reason.

THed 3 3794, Teh {X o el o 1Y Tort 110 S § et sfisT aret et it
AR 1 aTel 9l § HeRtoT ORI | SHROT TY A gU 39 F a1 F,
afaai o Y& feafau |

Ted FH 0 & Nefi § 39 T & fow g3 e e o sAfafera o=
foreel a1 foroatelt (forehedt) ratont <ht g=ht sTsT |

Mendel in one of his experiments with pea plants crossed a variety
having round seeds with one having wrinkled seeds. Write his

observations, giving reasons, of F; and F, progeny.

List any two contrasting characters other than roundness of pea

plants that Mendel used in his experiments with pea plants.



19. THifhd M@ I FEEAT ¥ d & fHHM % SR A =
Fhifs | 3

Explain with the help of a labelled diagram, the cause of twinkling

of stars.

20. W€ B foRE @ 1 ITAM ek e N SATT % e i Whel -
SRR Y R W Fafid T =T R

(a)  3Y TorE TR A1 ¥ IYFNT AT ST 3T ) 7

(b) < h BT U f° % U&1 § 3 AT Al " 9 FRaf g | @
=1ET o <tam W sare 1 (i) foafa (sr=n), (i) Ster gfafers o= |

(c) ook YhUT H Wfaferes s 23114 o Toqu fomtor et diferm | 5

A student wants to project the image of a candle flame on the walls of

school laboratory by using a lens :
(@)  Which type of lens should he use and why ?

(b) At what distance in terms of focal length ‘f’ of the lens should he
place the candle flame so as to get (i) a magnified, and (i1) a

diminished image respectively on the wall ?

(c)  Draw ray diagram to show the formation of the image in each case.

31/1/3 9 [P.T.O.
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22,
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(a)

(b)

(a)

(b)

3B & AT <fiF STdedE ST oAt gt SIS | 3 SINT okl Gnfed s
3 fafau |

Torerrasfia 23 & YT 45 AT@ SAfad wifAaT-3taan ¥ difga 21 3=
T & fifgq T 30 AT STl I S 12 9 T FH AY & 8, TAH
FHT TS T o JII0T & 3ieh foham ST Tehel 2 | 3MUshl 3T & BT
FIT 3R oh YR T o1 AftAfcTd ek 38 aed o fowa § Arn | Sfa
3cqd L Hohd 27

List three common refractive defects of vision. Suggest the way of

correcting these defects.

About 45 lac people in the developing countries are suffering from
corneal blindness. About 30 lac children below the age of 12 years
suffering from this defect can be cured by replacing the defective
cornea with the cornea of a donated eye. How and why can students
of your age involve themselves to create awareness about this fact

among people ?

IO ied AT Shifse foh TET 4t € foh e 7 af C* e R 7 & ¢
TP ST Fehell ®, W Tegarst AT s4mar 2 | v afed a8 off Iooka

shifste for Tegas Jifie
() TrgIFTacE=izgad?
(i) | TTeTeh 37 FIHTe a1l F1 8ld § 7

. 4 . 4— .
State the reason why carbon can neither form C** cations nor C*~ anions,

but forms covalent compounds. Also state reasons to explain why covalent

compounds :

(1)
(ii)

are bad conductors of electricity ?

have low melting and boiling points ?

10



23.  (a) Uehfort qo IvAferf T80 § ek o1 Ush-Teh 3aTe S |
(b)  Terelt gou H F¥=H o Iw=ITd BIF Tt TiEdH 1 oo i |
(c) iy yosh Tt dii <€t sAfe=n it DNA Wfcasfet st wieH 2t 8, f
ot 3gH DNA it 7 i 8 @t @ 7 5

(a)  Give one example each of a unisexual and a bisexual flower.
(b)  Mention the changes a flower undergoes after fertilization.

(c) How does the amount of DNA remain constant though each new

generation is a combination of DNA copies of two individuals ?

24, (a) FHE R h I SHAN H AW fARIU ST IERI] 39 FAT § IR TH
A 1 grEu Wl Kl 2| Gifod SHM SR TH YT 3ERT SR
forfaw |

(b) UMY HIET & SHA-a § Fuea-wet &1 9m fafay aeon 39 9w & oft
am forfaT STt st 31 A9 B ¢ |

(c) H&9 T guiq HIfSTT foh ATaT o YRR o ffqw yor 1 9N fohe SRR e
BIATR | 5

(a)  Write the name of the human male reproductive organ that produces
sperms and secretes a hormone. Name the hormone secreted and

state its function ?

(b)  Write the site of fertilization and the part where the zygote gets

implanted in the human female.

(c) State, in brief, how an embryo gets its nourishment inside the

mother’s body.

31/1/3 11 [P.T.O.
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SECTION B

25, 3TT9%h f1&Teh < SATTH = ok SISl ok YUT o ToISTe W ol ST i o TTQ e
2139 W % forw urer foru ST et = A= feg e 2

I =4 Sl ol forsrs STt | fermemt weh T ek ofim & s |

I offf &S ot hree 3ue fafim 9 e Segor Hifso |

. ad-feur 8 32 =0 & T v S|

Iv. e sta s ek S |

V. i o Tt gt et e | et o o fore v & st i
T =R 1 TR S

(A) 1LLV,IV,II

(B) ILLILIV,V

(C) ILIV,V,LII

(D) HOLLIV,V, I

31/1/3 12



You are asked by your teacher to study the different parts of an embryo

of a gram seed. Given below are the steps to be followed for the

experiment :
I Soak the gram seeds in plain water and keep them overnight.
IL Cut open the soaked seed and observe its different parts.

IlI.  Take some dry gram seeds in a petri dish.
IV.  Drain the excess water.

V. Cover the soaked seeds with a wet cotton cloth and leave them for a

day.
The correct sequence of these steps is :
(A I1LLV, IV, I (B) ULLILIV,V

©) HOLIv,V,L1I (O) HOLLIV,V,II

26. fraferfaa & afssat o1 19 @1 Tk SiteT ST GEETST o 3R R ¢
(A) TS 3R IRl (B) TSR 3R it
(C) TSR 3T ZHTE (D) AT ST Heft 1

Which one of the following pairs of vegetables is an example of

homologous structures :
(A) Potato and sweet potato (B)  Carrot and radish

(C) Carrot and tomato (D) Tomato and radish

31/1/3 13 [P.T.O.



27.

31/1/3

IR BT P, Q, R 3 S 1 = fIu U 31 & Tq== &l JI-HAT THET

EGIELN

P e o 3G 7R fousRel & ST
Q Ul % IR IR WHA % UK

R did o u@ 3iR faeft & v

S Ul % vy 3R THeS % Ud
FHAFT AT IA AL 7

(A) P3RQ

(B) Q@HR

(C) R3RS

(D) P3RS

Four students P, Q, R and S differently reported the following set of organs

to be analogous :

P.

Q.
R

S.

Forelimb of a frog and forelimb of a lizard
Forelimb of a bird and forelimb of a human
Wings of a parrot and wings of a butterfly

Wings of a bird and wings of a bat

The two students who have reported correctly are :

(A)
(B)
(©)

(D)

P and Q
Qand R
R and S

Pand S

14
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37 Tet ot vee shifee e offee § gepeta <t fshan qurieft Tt 2 |

O ®.6

) ) e
52 f@ bo e &
&/ © SOPF S

I II 11 v

(A) 1, IR
(B) I, I3V
(C) LIIWIV

(D) L IV 3R 1

Identify the figures showing the process of budding in yeast.

(=)

qﬁ o0 050 @
Q100 f@ o0 @ 3
D, © e &
I 11 111 v
(A) I IandIII
(B) ILIIand IV
(C) LIandIV
(D) LIV andI
15

[P.T.O.



29. = fo o arfen § fimven & fafis = qeiu o d

(o )

& o= (2 e O
I il 111 Y \

S <RI 1 Gl 56 91 T <11 :

(A) LIV,ILI,V

(B) LIOLIV,I,V

(C) LILIV,IILV

(D) LILILIV,V

Study the following diagrams showing various stages of binary fission in

Amoeba :

The correct sequence of these diagrams should be :
(A) LIV, IOLI,V
(B) LIIOLIV,I,V
©) LILIv, 10,V

(D) LILTLIV,V

31/1/3 16



30. his D dF WEAGRE X, Y 3R Z ¥ o9 wawn: Sifsaw sags, difeam
TIES(FTES T WIETH Free & ToA1T faerm R &, T o UHigsh 30 hi
FS g4 ST ¢ | 376 IS TAATEeh T ST o G ¥l 98 Yedish TEe! o
@ % e Stard! feoudt @man 7, @ foe stemn o temelt (Weahker) & 9@
o frere foudl R et &, T A A 2 AT S 7

(A) X3RY
(B) YS3RZ
(C) X3RZ
(D) HEAZ 1

A student adds a few drops of ethanoic acid to test tubes X, Y and Z
containing aqueous solutions of sodium chloride, sodium hydroxide and
sodium carbonate respectively. If he now brings a burning splinter near the
mouth of the test tubes immediately after adding the ethanoic acid in each
one of them, in which of the test tube or test tubes the flame gets

extinguished ?

(A) XandY
B) YandZ
(C©) XandZ
(D) onlyZ

31/1/3 17 [P.T.O.
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Ffe o1 foreft wrEeht fSaw 2 mL Tgd Sta 90 8, 99 91 | vfafes st
T, TEe! ot welta featre s =01 for e & foe @ 2, ot o
5 Tiee o uveITd o119 I- erur i foh R T

(A) i qefl TS Tha T o3 T T,
(B) ¥ Ush To=s faoed o9 T B,
(C) < i Fag W s et o wa = T R,

(D) ¥ UfHfeer 3t it Gag W S shl Hdg 99 T 7 |

When you add about 2 mL of acetic acid to a test tube containing an
equal amount of distilled water and leave the test tube to settle after
shaking its contents, then after about 5 minutes what will you observe in

the test tube :

(A) A white precipitate settling at its bottom,

(B) A clear colourless solution,

(C) A layer of water over the layer of acetic acid, or

(D) A layer of acetic acid over the layer of water.

18



32.

31/1/3

TTSHIHRTT SATTHAT T AL A & AT Teet 29 Tfeam TegiFamss & 20%
forerm srd € | 3t a0 9t # wifem greianme it qufedt g & gid uwemd
39 foeraa =1 19 g qen fofend g 39 forera 3Rt SeRfd o wieer sl 81 I
T frehrer werd 2 foh 300 forerm ot s <t wfskam Sheft 2t

(A)

(B)

(©)

(D)

Feqrerd) qun foerH ek g |

ST gt foaere arehig g |

ST gt T st gnm, ST

Fearerd) qen oo sreefig g | 1

In order to study saponification reaction we first prepare 20% solution of

sodium hydroxide. If we record the temperature of this solution just after

adding sodium hydroxide flakes to water and also test its nature using

litmus, it may be concluded that the process of making this solution is :

(A)

(B)

(®)

(D)

exothermic and the solution is alkaline.

endothermic and the solution is alkaline.

endothermic and the solution is acidic.

exothermic and the solution is acidic.

19 [P.T.O.
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34.
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TG T o foTT ATTeRT AffR 1 s1erM sid g foret B & 38k
feger 3 safsrferan fsror o wremor Twes & F© A1 AW 1 g fn ) |
TfIfeRa § |TETROT e 1 T S B

(A) TS i SATEHRIAT Sl hH T,

(B) TS Sl STFATIAT Sl A LT,

(C) e[ I GTS Fad i ammar § gig w1, e
(D) WA o A&V H TEr=aT e |

While studying saponification reaction for the preparation of soap, the
teacher suggested to a student to add a small quantity of common salt to the

reaction mixture. The function of common salt in this reaction is to :
(A) reduce the alkalinity of the soap,

(B)  reduce the acidity of the soap,

(C)  enhance the cleansing capacity of soap, or

(D) favour precipitation of soap.

%15 foeneff =R wEAfe™ P, Q, R @1 S H, Y H T 6mL 3Tgd Sial
AR, T e § IR fafsrg Sdoon st g/ 9o § Siedn @ | 98 wEH !
‘P’ T HIfeaH FANIES, ‘Q’ H TR FANIEgs, ‘R’ | hicHIH FASS ql S’
H FiRW FARIEE =ierd © | 38k J9Td a8 Toieh WEHel! § "igd & e
& 10 3 ST TES Sl HAHId FATT © | 98 el S a1 o
1Y TR (TRl garef) oM St e, R E 7

(A) Pa=Q
(B) QR
(C) RAAS
(D) QaUTS

20
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A student takes about 6 mL of distilled water in each of the four test tubes

P, Q, R and S, then dissolves an equal amount of four different salts namely

sodium chloride in ‘P’, potassium chloride in ‘Q’, calcium chloride in ‘R’

and magnesium chloride in ‘S’. He then adds 10 drops of soap solution to

each test tube and shakes its contents. The test tubes in which scum

(insoluble substance) is formed with soap are :

(A)

(B)

©)

(D)

P and Q

QandR

Rand S

Qand S

forel B 4 ofada YU h HiRE gl I FA o fou el gy foa
yfafers umw = o 21 afe s forw & w9 # wefiwifa s ot @
a4 &l A1 § a1 Fefifiad § 8 &F 91 U foaehed o aTet iifors o1 @@t

Ui AT R

(A)  T¥TEL, 3ceT IR AT TT 1 Bl Thafers
(B)  aTedfreh, €4 X I[eTsll T1 o1 Bl Shdfers
(C) aTafash, 3¢l TR AT T I BieT Tfeiforeat
(D)  STHTER, e 7R e T1 o1 foratia fdfers

21

[P.T.O.
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A student has obtained the image of a distant object with a concave

mirror to determine its focal length. If he has selected a well illuminated

red building as object, which of the following correctly describes the

features of the image formed ?

(A)

(B)

(&)

(D)

Virtual, inverted, diminished image in red shade

Real, erect, diminished image in pink shade

Real, inverted, diminished image in red shade

Virtual, erect, enlarged image in red shade

TF B A QU T oW A weRd g F, I = ok o ot gy for
gfdfers o< W T fomam | 3Tk foeres 3 ufafersr < S o & gved 3° U
317 oG, freeht B @ F, off, 3o 3uek g 36t forat <Rl 3t U6 W wiskfra
& o TTT &g | 38 B 4 I8 IR ok for a1 94 X wfdfens wmd Rt < fog
3 °F HI IS U QWA TET IST| 39 B o 39 YU o YR W I8 Feepdd
frerTett T gemdn ® for Suen! fow 7w a1 o

(A)

(B)

(®)

(D)

FIda 9 9 F, < F,
A I qATF, < F,
IAA S AAF, > F, A

FAIdA A AU F, > F,

22
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A student has obtained an image of a distant object on a screen to determine

the focal length F, of the given lens. His teacher after checking the image,

gave him another lens of focal length F, and asked to focus the same object

on the same screen. The student found that to obtain a sharp image he has

to move the lens away from the screen. From this finding we may conclude

that both the lenses given to the student were :

(A)
(B)
(©)

(D)

Concave and F; < F,
Convex and F; < F,
Convex and F| > F,

Concave and F; > F,

IS BT hid o A W oA areft foreft st fortor & vt st gria aret o ot
Y07 o T 2 | 98 B I8 I5hs ferrei fop Teh stmade v o fore wemrw

W%ﬂ%ﬁ%

(A)

(B)

(®)

(D)

fron O waw wa aww Afiers ft 3R qun frew @ frfq g o
i | g,

Tirsw o AT s Tme Afvrers @ g aen firsw | ffa 2ia o sifvrena
I 3R,

TSrem o ot o 37 firsw @ rfa id o 3t &1 ettt o stfvers &
<

frsg @ yow d 3R frow @ frfa 81 auw < € fearfoa o erfiyer
1 3R 1
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38.

31/1/3

A student is observing the diagram showing the path of a ray of light
passing through a glass prism. He would find that for all angles of

incidence the ray of light bends :

(A) towards the normal while entering into the prism and away from the

normal while emerging out of the prism,

(B) away from the normal while entering into the prism and towards the

normal while emerging out of the prism,

(C) away from the normal while entering as well as while emerging out

of the prism,

(D) towards the normal while entering as well as while emerging out of

the prism.

e fomr & e ok Torsw @ oA areft foreft sehTe fortor ot e gl TR
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3g T o fos| =i, o9 =hivn, riq sior 37 foamre shivn suen: forees g
frefa frgmu @ 7

(A) O,Y,Z3MN,
(B) P,Y,M3WZ,
C) O,X,M3WRZ,

(D) P,X,Z3WN 1

The path of a ray of light passing through a glass prism is shown below :

In this diagram the angle of prism, angle of incidence, angle of emergence

and angle of deviation respectively have been represented

by :

(A) O,Y,ZandN,
(B) P,Y,MandZ,
(C©) O,X,Mand?Z,
(D) P,X,Zand N

31/1/3 25 [P.T.O.



39. ol o 3 3T o g0 forelt saren e foafifa wfafora o8 o v s foren 2
wfcforst s 1 dTEdt oo s wiem & fore e < it e o ar feR,
ek 31U o Tv=ITd U QRITC MU &, 36 BT ol AT AR ?

I 11

111 v

(A) I3
(B) II3RIII
(C) TIIRIV

(D) I3MWIII

31/1/3 26



A student has obtained a magnified image of a flame on a screen using a

convex lens. To draw the corresponding ray diagram, to show the image

formation, which of the following two rays whose paths after refraction are

shown he should select ?

\0/ F

(A)

(B)

(®)

(D)

31/1/3

[1I

Tand II

II and III

I and IV

I and III

27
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40.

31/1/3

forelt B @ 3Tk Reges 4 39 < & g § fafa fema-giat & fog
Shifora i@l I F o fIT e | 38 |t Sraerhrn sRad g S o
ST 377 Yo A & el wrof | 9ie fy

S &1

ﬁﬁlﬁ@ (cm)

fcrferes il g (cm)

60

15

48

16

36

21

24

24

18

36

16

48

&7 - 3 ST A W 18T | I el ok Tk apor 1 widfors-gl e
H Trerdt & A R | 39 Uk Neawr il i Te s i g et wfafera-gl o

T

A) 2
B) 3
€ 5

D) 6

28




31/1/3

A student was asked by his teacher to find the image distance for various

object distances in case of a given convex lens. He performed the

experiment with all precautions and noted down his observations in the

following table :

S. No. Object distance Image distance
(cm) (cm)
1 60 15
2 48 16
3 36 21
4 24 24
5 18 36
6 16 48

After checking the observation table the teacher pointed out that there is a

mistake in recording the image distance in one of the observations. Find the

serial number of the observation having faulty image distance.

(A 2
B) 3
< 5
(D) 6

29
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41.

31/1/3

Toret hefl o BT 9 “HiE o ATARR T W [ areft foRet wehmen feRton
T 9 IMRAFd HHAT T & AR W A9 fou o freewt @ @ o fAwns

1 T AT :

(A)  TudH it fefd s 8 ST R,

(B) Fnfa shior Sruada & & BieT R,

(C) fia foror sraafda fomor o w2,

(D)

smafad foreor derm feta femtor weh-gat & TETR 2 |

On the basis of their experiment, “To trace the path of a ray of light through

a rectangular glass slab,” students of a class arrived at which one of the

following conclusions :

(A)

(B)

(©)

(D)

Angle of incidence is greater than the angle of emergence,

Angle of emergence is smaller than the angle of refraction,

Emergent ray is parallel to the refracted ray,

Incident ray and emergent ray are parallel to each other.
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42, FE % AR Te  [oRA areht Rt Tehter foRter w1 99 oM e
SR Rl R o Tore = gl T =R Srenfies sreeens 1, 10, 101 3R IV &

eI iU |
q Pl >
1
? P, \
I 11
P,
P,
P, P,
111 v

0 U Ry =ayn @ gdiH I 9TH 8 1 @9TEET 8 | (P, @9n P, SAmafda
fortor o T Tt <t fo < fearfoa €) ¢

A 1

B) I

(©) I

D) 1v 1
31/1/3 31
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Study the following four experimental set-ups I, II, III and IV for the

experiment, “To trace the path of a ray of light through a rectangular glass

slab.”
q P1 >
1
P, P,
1 11
P,
P,
P, P,
I v

Which of the marked set-ups is likely to give best results (P, and P, are the

positions of pins fixed on the incident ray) ?

A 1
B) I
(©) I
D) 1v

31/1/3 32
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